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1 Question

Write a A-term M implementing the following specification:

M™n T ="Xxg...Zp. TpLp_1-°"To

(Note: The notation "n™ above stands for the numeral n, while " N7 stands
for T#NT — inside LyX it’s hard to tell them apart, but will appear correctly
in the PDFs)

Lam™ 0 (Lam™n"_Fst_nG(Cons(Var™n™)_n))

G = A\p,Cons(App_Fst(p) _Var"™ Pred(Sndp)™) _(Predn)

(RZ: this looks rather wrong. What about the other lambdas? Also, be
careful because you don’t want to use "—" here. Be more precise about where
you put parenteses, many seem to be missing and/or put in the wrong places.)

1.1 Answer

Write your answer here.

2 Question

Write a A-term M which, when given as input " N7, evaluates to O™, where O
is obtained from N by replacing every syntactic occurrence of {2 with I.

To the purpose of this exercise, assume € = (Azg.xoxo)(Axo.zox0) and I =
)\xo.xo.

For example, here are some expected outputs:


http://disi.unitn.it/~zunino/teaching/computability/assignments

M "A\a5.Q7 =5, "Azs.I7

M "A\z3. KQT =g, "Azs. KIT

M '7)\1:1.LI,'1(2()\£I,"7.$19)j =pn r/\,T1.,T11()\$7.£L‘1I)—|

M r()\LL'Q.LL'Q,To)(/\,T().LL‘Q,TO)j =pn 1

M '7()\51,'1.LL‘l,Tl)(/\,Tl.LL‘l,Tl)j =pn r()\:vl.:lel)()\xl.:lel)j

Hint: use Sd, etc. as approprate.

2.1 Answer

F4Q7 = 449
M =o(\g.e.Eq_x 4497 1(Sd = V_A_L))
V=AVar_i
A= Ap.q.App_(gp)_(99)
L=X.n.Lam_i_(gn)
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